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***Past Paper 2***

.CG Maths.
Hints



Please note that these worked solutions have neither been
provided nor approved by Pearson Education and may not
necessarily constitute the only possible solutions. Please

refer to the original mark schemes for full guidance.

.CG Maths.

Any writing in blue indicates what must be written in order to
answer the questions and get the marks. The worked

solutions have been designed to show the smallest amount of
work which needs to be done to answer the question.

Anything written in green in a cloud doesn't have to be
written in the exam.

Anything written in orange in a rectangle doesn't have to be
written in the exam and is there to show what should be put

into a calculator or measured using a ruler or protractor.

If you find any mistakes or have any requests or suggestions,
please send an email to curtis@cgmaths.co.uk
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Putting the numbers in order then crossing out from both ends
until there is only one number left in the middle finds the median

The mode is the number which appears the most
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.CG Maths.

The order of operations, BIDMAS, needs to be followed. The brackets
need to be done first. Inside these the indices need to be done first.

102 = 10 x 10 = ... Also work out 82. Then these can be subtracted from
each other. Work out the square root of the result, which is basically
asking what number squared, or multiplied by itself, gives the result
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Dividing the 240 by 3 works out the 1/3 of the patients who chose pasta.
Dividing the 240 by 8 works out 1/8 of the patients. Multiplying this by
3 works out the 3/8 of the patients who chose beef stew. Subtracting

the number who chose pasta and the number who chose beef stew from
the 240 total patients leaves the number who chose chicken
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There are 1000mm in 1m so dividing all of the lengths
by 1000 converts them into metres. This needs to be
done in order to work out the area in square metres

There are 6 triangular faces as there are 2 on each of the
advertising boards. So multiplying the area of each triangular

face by 6 works out the total area of the triangular faces.
Area of rectangle = length x width. Multiplying the 10m2 by

the 2 litres works out how much area can be covered.
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